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PART - 1 PART - 1l
g @9 (GENERAL KNOWLEDGE) Agfeas fwg (OPTIONAL SUBJECT)
fruifya i /| Assigned Marks : 60 Praffa i@ /| Assigned Marks : 140
Jauifta wwa (Allotted Time) : Two Hours

WEAEl SN (Important Instructions)

st Frafafem Fl f amgEs 9 ¢
Candidates are asked to read the following instructions carefully :

1. T orpmHie ated o fad (sft § / e ) |

Write your Roll Number in the box (in numbers / in word).

2. et ®a Priws ara Pew 3 ¥ Iutw & y-uE JRaw B dw e |
Candidates are asked to open the seal of question booklet only when they are ordered to
do so by the Invigilator.

3. wed-ud e @ B W IS @ T H |

Do not remove any page of question booklet.

4. uﬁf%mtmmmmwwmmﬁ |
To mark answers use black ball point pen only.

5. anvadl SOX TG GX IOX 34 @ WA @l el @ wEuigds 96 | |
Candidates must read all the instructions before answering the questions.

6. it gl % oY AT | wW W & o W ¥
Answer all questions. All questions carry equal marks.
fidar.... 3ftm 9= W (Instructions Contd... on the last page)
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PART - I ., i
‘wredia Rven o (1964-66) ®Y GHHTATAT AT AT E b,
(A) THTFOT SrErT (B) ®rerr ST ‘,J
(C) fayaferera sgam smam (D) #vew ST :‘-
Indian Education Commission (l964-66)\is gcncrally known as“! |
(A) Radhakrishnan Commission \.(MW L
(C) University Grants Commission (D) Mandal Commission
Freaffa foarit & fhe dsnive st ¥ Ricwowes (rews) o= @ @ fear 7
(A) dTme &= (B) #rua. arfq
(C) drug. (D) 3ww &R
Who among the following scholars has used the term 'Paradigm’ in scientific research
(A) Auguste Komte (B) D.L. Morgan
(CuwT.S. Kuhn__ (D) EH. Carr
MY F R Ve oo F 9w dwaw & oo |
(A) st & (B) faftea &
(C) it &% = (D) wdwr &
While doing research it is better to select a hypothesis which is

JAyTentative (B) Fixed

(C) Proved (D) Approved
ﬁsaﬁummmaﬁmﬁma&ﬂa&w ?

In which year was the University Grants Commission established ?

(A) 1954 By 1956

(C) 1958 (D) 1960

m&ﬂ%mﬁﬂmﬂﬁz‘ﬁmdmmﬁt ?

(A) 4= (B) $mw

(©) w& artw D) =

Which country has recently granted citizenship to humanoid robot 'Sofia’ ?

(A) China - (B) Iran e |

(S Saudi Argh (D) Iraq‘
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6 ufved ue witfafe # fadve e (zeg D€ R) = ospm A

(A) st & udvd (B) a=n fyren
(C) wwy nsfhe (D) wdr g
Who is the head of the Western Ghats Feology Expert Panel (WGEEP)?
(A) R.K. Pachauri (B) Vandana Shiva
Mudhuv Gadgil (D) Pradip Krishna
7 faerd st gro fee fama R faaia’ % asa foar T @ ?
(A) =& (B) vanfeat
(C) Tzayx (D) sEwEER

Which Princely State was taken by the British rulers under the 'doctrine of lapse’ ?

m &] B aijf_ (B) Gwalior L

(D) Ahmedabad

8 wWidwgma mwaIT A ?

(A) g&= (B) wif
(C) (D) gowf
Which is the Seventh planet from the sun ?

(9 Cranus, (B
(C) Mars (D) Jupiter

9 gwfy & AfER ¥ |

(A) =aferma st (B) wawtie st
(C) umits st (D) @ st

Right to property is a -
(A) Personal right (B¥” Constitutional right] B “
(C) Social right @—«Legal rim . A

71-11 B ] 3 Py o [P’l‘ﬂ
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10 W@ ¥ o Prafe angee o Prafir o e & 7
(A) 497 gaw (B) wrzufa
(C) wyH Wi (D) fufty =s=h
Who appoints the Chief Election Commissioner of India ?
(A) Members of Parliament (By=President..
(C) Prime Ministci (D) Law Minister
11 2011 a?rmm%mmw%m%ﬁwmﬁmmﬁmﬂmm“
Thin 3
2 Cowmes uﬁm S
(D) mfarErE
bj UP ”ﬁs per 2011 census which district of U.P. has the highest fcmale literacy rate ?
(A)_ Shrawasti V\/ (B) Balrampur
(C) Kanpur \9/G_haziabad

12

13

fr=fafaa woat & @ var-out % sar § 29 ¥ sfteaw drrEE s § 7
(A) TsE™m= (B) Twua

(C) =TSy (D) afterTg
Which of the following states provides largest contribution to wind energy in the

country ?
(A) Rajasthan (B) Gujarat

(C) Maharashtra (D) Tgil Nadu

Frafafaa woat & ey = & sfaia qaifte d9we qar ST & 2

(A) TeEE (B) aifEem
(C) weawRyr (D) wt@ve
Which of the following states has the largest area under forests ?
(A) Rajasthan x (B) Odisha

(Siédhya Pradesh (D) Jharkhand

71-IL B ] 4 [ PT.O.
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14 g Y Prafaiag aeas atraY o @y wiisrra @ By a8 sy & 2

(A) ! (B) wuH
(C) W (D) 9914

Which of the tollowing tributaries of Indus does not flow through Pakistan ?

(A) Rawvi Y Q) Beas
(C)  Satluy (D) Chenab

15 frafafua o § ws wa ¥ W o @ gean owes ¥ o7

(A) onfsan (B) wrtave
(C) R (D) BT
Which of the following states is the largest producer of iron ore in India ?
~ (A).~Odisha (B) Jharkhand
e ————————
. (€) Bihar (D) Chhattisgarh

16 Frefafaa g & o= b % few q2 gt Rug T & 7

(A) gz (B) sfar

(G arTroTeY (D) &MY

Which of the following cities is not situated on the right bank of the Ganga ?
(A) Patna (B) Haridwar

(C) Varanasi (D) Kanpur

17 A2 & T Ay ey A e Rar ar ?

(A) @ s (B) T UH HWEd 4

(C) ae TR foeres (D) @™ TaF= qTEw

Who gave the call 'Return to the Veda' ?

(A) Swami Vivekanand (B) Raja Ram Mohan Rai

(C) Bal Gangadhar Tilak ymﬁ Dazanand §mﬁ¥mi
71-11_B ] 5
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71-11B ] 6

e gl & deawa w1 A adigy |
(A) wenm sTagra (B) gwrg o= A
(C) Hiaw @ (D) weAard 4rr
Name the founder of Gadar Party.
(A) Lala Hardayal (B) Subhash Chandra Bose
(C) Madam Cama (D) Madan Lal Dhingra
Freiftrflre fogeY % @y fadh ot et @ grafea a1 ¢
(A) @ fge (B) wore forste
(C) @t fazre (D) e fazre
Which of the following Revolts was associated with Sido and Kanho ?
(A) Kol Rising W
(C) Khasi Revolt (D) Bhil Revolt
WIta @ wEg W onfa & -
(A) wa & Tezufe (B) wraa«r
(C) ToaE (D) SugF @
The Parliament of India consists of -
(A) President of India (B) Lok Sabha
(C) Rajya Sabha ‘ yll the aggvg
Prafoafaa & & @9 @1 ogdde G & Su-Ugufy & gAE A ddfa ¥ 7
(A) s 70 (B) =T 67
(C) srgeda 66 (D) @gdE 64
Which of the following articles deals with the election of Vice-President of India ?
(A) Article 70 (B) Article 67
(C) Article 66 (D) Article 64
T ——
weaw # et 8 fraifaa gewt @ gem ¥ -
The number of members in Lok Sabha elected from states is
(A) 520 (B) 525
(C) 528 D530

| PT.O.
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23 Freafafere 290 o frad dre fava oy 2018 svafwa fear mar o 7

(A) ¥4 (B) @R

(C) wrsha (D) s
|
4
|

In which of the following countries FIFA World Cup 2018 was organised ?

(A).Russia

g —

(B) Germany

(C) Brazil (D) Australia

24 =% 2018 ¥ @ies § fah faus aw die % g gan 7
In how many assembly seats of Karnataka was the election held in May 2018 ?

(A) 224 \(8/23
=

(C) 222 (D) 221

25 HgE U 6 TAHEH WHIT % A & SE 9% 2018 ¥ wieg & wwEen o 47
(A) 136.6 U (B) 1354 &%
(C) 137.5 w03 (D) 134.2 &1s

As per estimate of the Population Division of United Nations what was the population
of India in May 2018 ?

(A) 1366 Million ~.)?'1354 Million
——— A
(C) 1375 Million (D) 1342 Million

26 Frefofaa & A ‘2rw gw@a &% & $aT 2017’ =ifve fear mar & ¢

(A) ®IeE 79 (B) i Wb
(C) & gaen wrEed (D) & uEe Ay
Who among the following has been declared the Time person of the year, 2017 ?
(A) Donald Trump (B) Angela Merkel
(C) The Ebola Fighters (D). The Silence Breakers
et B TR RN,
T1-11_B | 7 [ PT.O. 4
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BT X 7
(A) #am (sframm)
(C) g&wr (virem)

As per list issued by NITI Ayog on 28 March 2018 of aspirational' districts which

is the most backward district ?
( ewat (Haryana)
(C) Sukma (Chhattisgarh)

GET IT ON
Google Play

27 A s ZRy 28 Ard 2018 @ A sty FEGE @ g § B TS qait R 1}

(B) grawh (IaTHay)
(D) wgTe (areomad 939

(B) Shrawasti (Uttar Pradesh)
@ Namsal (Arunachal Pradesh)

28 frerfofes § Redr wda Sloe, R RifeT qadte @1 e Se1 A E 7

(A) T (B) @ e

(C) g.ame. (D) amrTdr. el
7 ho among the following is called the father of Indian D.N.A. finger-printing
) echnique ?

(A) Yashpal S§aalii Singh

(C) U. R. Rao (D) R.P. Rastogi

29 fyefaflaa & &9 o & e & 7

(A) gfa @t
(C) famsft wmx

(B) oo @it
(D) arEEYy @Y

Which of the following is NOT a level of teaching ?

(A) Memory level
(C) Reflective level

Miffcremial level
e b i o 53 I

(D) Understanding level

30 Prafaflad & 68 9va e qaai® B 6 B 909 T B A9 W ¥ ?

(A) A B
(C) uwH. ]

Who among the following is known for introducing the concept of Human

Development Index ?
(A) John Keynes
(C) A.C. Pigou

71-11_B ]

(B) amed &9
(D) WEqa-3Id &%

(B) Amartya Sen

} Mahbub-ul Haq
. ST TSP A
8
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PART - II : 5@y fsm

31 Qe fagewor & o
oy mmmmmmmmawm
(A) F@RE DNA, wdisifias RNA qon tzams RNA &1 |
(B) waaifyas DNA, wigdisifsas RNA a1 t=amma RNA &1 |
(C) -fwara DNA, wiseisifEae DNA qar a@iemr DNA &1 |
(D) TEaEma RNA, l1T32’ﬁb'|1%tr<=tRNfurenﬂrﬁmzxDNAW|

The most commonly used molecular tool for is_involves

quuu\unL of :

(A) Chloroplast DNA, Mitochondrial RNA and ribosomal RNA.
(B) Mitochondrial DNA Mltochondnal RNA and ribosomal RNA.

(O Nucles . : A,
(D) Ribosomal RNIAR Mltochondnal RNA and Niiclear DN AT

32 ugEla®s o ¥ Wfded ond 999 & i wreRa By B

(A) HIEET B (B) wurEae &)

(C) wHratferdeirnTor @ (D) e &) 4
Formation of Lactic acid from pyruyic acid requires : f e )wxl«
Meduction (i (B) Oxidation A —hodu

\'((‘)/ CarBoxylation (D) Hydration F
33 {9 HA @ AT TR PA BEA & 7

(A) sufhsdr (B) faferdsdt

(C) T (D) Bi<ege
Which family is known as "morning glory" family ?
(A) Orchidaceae (B) Liliaceae

(C) Asteraceae (D)~Convolvulaceae

34 fom o 2w §YE IR A € ¢

(A) FOERE ® (B) &= H
(C) wrgemanitar § (D) waeEEE H
Tim and Tom complexes are found in : &
(A) Chloroplast (B) Nucleus,
Mitochondria (D) Peroxisomes-
o ————————.
35 wisafve gfFs ond XNA ¥ 8 ¥
(A) 4 ®rEd (B) 3 ﬁ
C) 1 &EA (D) 5
(2(1311\ is synthetic nucleic acid, which contains : L/ % )(N ﬂ
4 c (B) 3 carbons
(C) 1 carbon (D) 5 carbons

7B ] 9 [ PTO.
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waw e fagraar &

(A) Wz &) (B) ez
(C) semga 4t #r (D) mga 4t &1
Double fertilization is characteristic of :

(A) Bryophytes (B) Pteridophytes
(C) Gymnosperms (D) Angiosgerms

mmmm‘ﬁﬁmﬁamtnmmq gl #1 gEa #JE
A gymnospermic leaf carries 16 chromosomes. tht will be the number of
chromosomes in its endosperm /3

(A) 16 (B) 24
Yed % agarg &1 fraw &

(A) @da d4&a (B) fa=pat
(C) gms & ypaan (D) =iftE

An_exception to Mendel's laws is :

(A) Independent assortment :

(C) Purity of gametes 5% 'm-nriba?l.ce

X oA Al @ afv % e, §E ol @ det @ Swed g & | 98 AeE & e
fraw & gfte Hrar & 7

(A) =i (B) @firfsm

(C) TAdhudz EfEE (D) @ad @ BT (THIZAR)

Heterozygous tall plants produce tall and dwarf plants after selfing. This conﬁnns
Mendel's law of :

(A) Dominance ” ion,, ~

(C) Incomplete dominance * (D) Independent assortment

Wa U N B AT, GEL O B TEE B WG B FART & A 39 @91 HeA 7
(A) SfE= (B) FUHErATH

(C) ghefey (D) @y

The phcnomcnon in which an allele of one gene suppresses the activity of an allele
of another gene is known as : L o

(A) A) Dominance (B) Inactivation
Mistatis et 25 (D) Suppression

uﬁmmﬂm&waﬁtm( )ﬁm%zmmzt A 39% USTH Bt Wi
ar g ?

(A) fwias (B) frwitas

(C) 2zrras (D) Yeiwigs o

If an angiospermic male plant is diploid and female plant is tetraploid, what will be
the nature of its endosperm ?  “° Yop +

(A) Diploid (B) Triploid

(C) Tetraploid ’gpl’entaplmd

71-11 B ] 10 [ PT.O.
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42

& the recessive mu
| g g —

43

44

ety fefore o e g P s ¥, safrads staga % g wafs
(A) ady skt mt sas P o gwn b )

(1) srforer w fraens wig was oft even b

(Cy frafua gefrada asey Sy o san g |

(1)) wraaven frafiea srftre o zaae w8 g

Haploids are preferred over dnplmdu for mutation studies because :

(A) larger Population can be studied,

(1) there is no selection against haploids,

(1)) recessive lethals do not express in haploids.

fete o m oom B g wonfadt @ avefrarae garn ¥,

(A) stfavdraigs (B) umadreiss

(Cy w2y treaydveias (D) ushifsaiae

A polyploid with genomes derived from same original species is
Wm.mnmmlma (B) Allopolyploid

(C) Auto-allopolyploid (D) Amphidiploid

anmifars M foesr ot ¥ drdifes e &

(A) e sepme, gafrdrea # aeftaa s ¥ |

(1) g st o o sidroee o dnfen B ¥

(C) vifrarea # DNA fsee % am sfea oo ¥

(D) DNA gammre she v oty 9y ¥ sbugea 3
Fukaryotic_genome differs from the prokaryotic genome because :

W chctitivc scquences are Mt in eukaryotes.
(B) Genes in the former cases are organized Into opeons.

(C) The DNA is complexed with histones in prokaryotes.
(1D) The DNA is circular and single stranded in prokaryotes.

0
45 frrforfae # @ @, c-DNA sam # wdnt fear sman & 7
(A) DNA trefrrea (B) fad zrafaes
(C) et Yfwferode (D) e
Which of the following is used for the production of c-DNA 7
(A) DNA polymerase everse transcriptase p
(C) Endonucleases (D) Ligases

T1-11 B | 11 [ PT.O.
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16 % 7= % Ry % fyam, o A g o Rew e & e § @ B0 W0 R g
B T FA A wag pom 7
(A) wmar 3R aet % Karyotype U&% dHI1 HogE g ARl |
(B) At & gy wer ue aw o Ay |
(C) % T= ool v § uep firdy A2ENEE O WEW HOT |
(D) sad ¥ @ DNA ssy 89 R |
A dispute about parentage of a child is being settled by a mother. Which one of the
tollowing would help in deciding the parentage ? AR
(A) Similar karyotypes should be present in mother and the child.
(B) The chromosome number in both should be the same.
WA child would inherit one_mini satellite from mother. ¢
otting shows same DNA sequences.

47 wrafhs evas & IaET ¥ hEd snayasdr B &7

(A) Wiawre (B) ¥« @M P
(C) favwuras (D) e awferan ‘
The production of secondary metabolites requires the use of : /; A "Nf\w
(A) Protoplast B Cell suspension, +
(C) Meristem Ly (D) Axillary buds
48 ?ﬁmﬁm&smmwm%mﬁmaﬁmm.w@ﬁ?#m
' L
(A) w2 (B) w2
(C) #=irw (D) et sfafem et

The most widely used chemical for protoplast fusion, as fusogens, is :
(A) Manitol (B) Sorbitol L 35
(C) Mannol Molt ethylene glycol (PEG)
49 freafafea & § &9 @ dey Hifde gfeaR=d @a ¥ ? W_,P“

(A) e AifEHE (B) = =qa

(C) fawaias (D) wid By

Which of the following plant cell will show totipotency ?

(A) Xylem vessels (B) Sieve tuée
Merﬁ' lgm ., — (D) Cork cells

50 Y U & SUEnT & gAY H g% fEe ¥ 6 -
(A) dvaa: sFRe foafaal & o s & o
(B) wra % fid ua gwifaa eifens gos § |
(C) (A) ¥ (B) Tt
(D) 4ft 9@ & g &L ¥ |
The controversy regarding the use of Bt cotton is that it :
(A) is potentially harmful to monarch butterflies. p~

(B) is a potential allergen to humans. | _~

yboth SAE and EB]
(D) can con te ground water.

71-11 B ] I [ PT.O.
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52

daifrae ofve & udim @ s W wrd qeeh @ qgran o wa ¥, W ol W wn wed

1T
(A) ywin wude e W (B) ADP v qrgOwEse fiF
() ufemaag e i (D) g & @ i Tl

Starch content ol l“'l woes can be increased by using bacterial gene, known as

AD P C[{‘\ [ &M /"’”/l"""}{4ﬂy(x« et o

(A) Sucrbse phosphate synthase gene

w87 ADP glucose RuRLORhondasE.aene

(C) Polygalactouranase gene
(1)) None of the above

fafarftaa & & @ & qu it sigadiol wraw qa & & ¢

(A) e, fafwa, seffaam, Zgafar aqun et

(13)  fafteur, vragpery, Refa, offtn qur R

() vfeyenfean, oA, e, fafass qu S

(D) by, wugaad, quifia, smie aw g

Which of the following group is a group of basal angiosperms ?
Ambore 2, 1lici enia and Austrobaileya

(B3) Nymphaca, Ranunculus, Phoenix, Arisaecma and Pandanus

(C') Aristolochia, Annona, Magnolia, Liriodendron and Passiflovra

(D) Ruscus, Smilax, Peperomia, Amica and Cucumis

53 wwiielifiay @ S g AnvEES Saw g e b o
(A) fefean o (B) wvhfyran &
(C) wweifros o (D) wgAfean o
Sporogenous tissue is of amphithecial oggin in : Mam |
(A) Riccia (B) Marchmma
(C) Enthoccros (D) Funaria
54 dafafauar & G4l AfUS TEATETSTT EHT ¢
(A) Wkfaas & g9 (B) %faaw & wa
(C) wawgfad & §94 (D) feaifras & g9g (11
Maximum diversification of biodiversity occurred during : (A&ASe3 ey
(A) Precambrian Period (B) Cambnan Period
(C) Silurian Period (D i G
55 gy twed ¥
(A) uanithfes (B) uAre®
(C) smfaRrs (D) Qjﬁl&s
Stomata of grasses are : F
(A) Anomocytic ) Anisocytic
(C) Diacytic w‘/,/
71-11 B ] 13 [ PT.O.
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56 wafear Ml wen frad ura & e &7

(A) whg wiferder & (B) 2aqq 4@z |
(C) Mﬂflﬁlftmuaané (D) areafrar fwaze 4
Antimalarial drug is obtained from :

(A) [phcdm foliata .(B)~ Taxus baccata

wmi&i_mﬂm v (D) Barleria cristata
A "

57 Frefafed & & @9 @ s dEifRe &7

(A) siftyan (B) amgmEasd
(C) sfe (D) ey /
Which of the following is a monotypic genus ? ((/”1'4 v liytas
(A) Zamia _(B@*Microcycas Tl
(C) Ephedra (D) Gnetum
58 frafafaa & 4 @ MEwgzg auor Rrrenia & ddoe &4 & 7
(A) faferawaifmar (B) ey
(C) anfarefra (D) smiEfem

Which of the following is a connecting link between pteridophytes and
gymnosperms ?
(A) Williamsonia (B) Glossopteris

\(Cyrchaeogtcﬂ's ’ (D) Zamites

59 9T ¥ A FHeal HEAET &

(A) e ¥ daud (B) fa=n wfpg waed=
(C) YThYTT HaHT (D) usw Hifywr g@gs dadq
Cultures started from pollen are called :
(A) Single cell culture (B) Non-viable culture
n D) Single cell suspension culture
\\W\/' (D) Sing p
60 HIEAEITART & WY WHT A ¥
(A) fomrE wm= (B) fawma &t @grar 2aamen gard
(C) foy@mE art® (D) wuga @+
The phytohormones are also known as :
(A) Growth hornmiones (B) Growth promoting substances ,
(C) Growth factors | ~ (D) of the above
61 By ¥ ford Egom & W@ &9 ¥ :
(A) d1g HEAR AFIIAA (B) =mgeed
(C) e waor (D) Sfaw gy dife
The chief source of nitrogen for green plants are :
(A) ,Atmospheric nitrogen d Tatesel
(C) Ammonium salts ) Organic nitrogenous compounds
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62

UE WEA Y

(A) % siFmzies gz

(B) wa #=

(C) % % fuA.n, form s faam & faera 21 g %
(D) wngfea wra &1 &vq.0,

A Prophage s .

(A) An auxotrophic mutant

(B) A gene

#’A hage DNA incorporated i e
D) The DNA of the lytic phage

63  gwar B o gt £1.09.0, B GH0d H % g 0. § S fedr ¥ g A

AU HE G A ¥ 7

(A) =4 gty &G (B) #.uA.U. & 99T & 999 HaH &

(C) argra % e 4 (D) am@t® & Y8 &% W1 &

The energy for injecting viral DNA into host cell comes from ATP, Where do these
ATP molecules come from ? A ‘%‘_Lo AW,

(A) Produced by virus themselves
() Taken from the host at the time of penetration of DNA
(C) Head of the virus

64 adur a6t &, tHA - H.UA.U. AT y-HEEE F ST ATHEH (PREAEE HaET) &

s &1 faar ara e ¥ fear war i

(A) &tﬁisﬁtamu;t;?%m lq v

(B) & ga ¥ ghrated g § | |

(C; mgmmmﬁmmt |

(D) & Hranew oradl & T ¥ aeEE fRY W wHT ¥

In recent years, DNA sequences (nucleotides recurrences) of mt DNA and y-
chromosomes weré considered for the study of human evolution because :
(A) They are small and therefore easy to study. :

ey are uniparental in origin and do not take part in recombination. .-
C) Their structure 1s Known in greater detail. B L

(D) They can be studied from the sample of fossil remains.

65 Freq ¥ @9 gad q81 drer-Hifve i ¥ 7

71-1L B | 18

(A) froafiman (B) udirywfw
(C) uifd (D) ¥ Ogde
Which of the following exhibits the largest plant c¢ell
(A) Reflesia LUEAcetabulaa
(C) Agaricus (D) Saccharomy ves

L
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66

67

68

69

70

A gzfsta #van &
(A) Tomat & um s wyem (B) owE & s fEryea @qer
(C) 7ot #1 vz famfors wq=aa (D) #ifora o u A g0 A F HA HEm

The genome refers to {ov | Ari

—

e _
LAy Taploid set of gn‘omg&mcs‘m Diploid set of chromosomcs

(C) Triploid set of chromosomes(D)) Total number of genes in a cell

Fr=1 5 B9 St & 7

(A) #1ET = faee (B) @™ &1 A9z 712

(C) e &1 ar (D) Hmeat &1 Agq FAa

Which of the follpwing is a béclc_n'_e_x_l__d_iggsc ?

(A) Wilt of Arhar Wgoﬁ. rot of Mangg /f“/"-}'
(C) Wart of Potato (D) Early blight of groundnut

fr=1 4 fpa geastt &1 dfessm g9 gaffas & 7

(A) wiiHz geas & (B) %7 Hrre gemEd &

(C) zoraz™ gemdt & (D) zvzifpaiy gagEst =0

Which of the following microscopes has the highest magnification power,?
(A) Fluorescent microscope (B) Phase contrast microscope <=
ylccl:tron mim \/ (D) Interference microscope

g7 9% 4 G949 ufrgdadia a1 § -

Most variable stage in cell cycle is : G ' e Yqoart vards, |
01— (B) G2

(C) GO (D) S

(A) BTAT. & UF T (B) #AMTAY. = UF T

(C) Aruau. & 2 77 (D) H.-TAT. F F Fq

R, vicwees Bave ;.

(A) Single stranded DNA w99 Single stranded RNA

(C). Doublg stranded DNA (D) Single stranded t-RNA
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71 wHEE g Ry wefg & 7

(A) wrawenges § (B) *fEiwgza 4@
(C) frresd & (D) wdrwmed &
The term ‘hornworts' is associated with :

Bgogh“ﬁi‘ el (B) Pteridophytes
(C) Gymnosperms (D) Tracheophytes

72 sfusiy MNwgew § fadas gfe srufaa i@ & afea foa & @ fead o & 7
(A) wIgwe (B) wgavifEay
ORELLL LN w} (D) fesifora
Secondary gmwlh is uhss.nun_mn;nm_m_mg_p_t;udgphnﬂs. but is occurs in :
(A) Psilotum (B) lycopodlum

-Moclcs/ ;)4113" ‘ (D) Seloginella

73 faoda aRfafa § &8 sas am-ag a9 ¥, R #sd ¥

(A) frrerdffasn (B) wiefifan
(C) wwferifyam (D) w@rifem
Durmg unfavquns many fungi form hard resting bodigs called g(jt.;d}
(A) Cleistothecia (B) Perithecia
\(9/5 ‘m (D) Sporangia
74 % ufeEr & O Regar aifite @@ ¥ 7
(A) o™ &I (B) el &1
(C) ¥q & (D) daa @
Presence of many embryos is the characteristic .feature of :
(A) Mango (B) Banana
(C) Apple e
75 ar Refy frad W@ 9% T E e gag @a e ¥, fre 7 @ Reed o wwn ¥ 7
(A) W (B) FwUfaeH
(C) wwaifTer (D) e

The condition is which anthers are fused, but the filaments are free is found in ?
(B) Cucarbitaceae

(D) Poaceae

(A) Malvaceae

(O Conpasias
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76

77

78

79

80

TS FaT FEAZ & g W & Fe i § 7

(A) ufterd & (B) firdard &

(C) u=imd 4 (D) & Haa 4
Commercial coir is extrated from which part of coconut. ?
(A) Epicarp Wesocam el
(C) Endocarp (D) Seed coat

yg ¥ 949 481 aFwfae sun fud ¥

(A) =g o (B) @@ A
(C) ¥aTEm A (D) TEra
The biggest botanical garden in India is located in :
Sy n. s
. <
(A) Mumbai I~ Kolkatta
(C) Hyderabad (D) Gujarat

Prer & @ @ & a7 & ofm &8 ot arftrss wrn A 9l i ¥ 7

(A) "faw o (B) woaw A

(C) wrarE A (D) afmar &

Which of the following seeds are rich source of omega fatty acids ?
(A) Coconut m e

(C) Soyabean (D) Coriander

Pre & #r areaitE St & '@a ¥ 7

(A) B! (B) dr.uA.sh.

(C) ua. g, (D) fa= fim

Which of the following is the non-conventional energy source ?

(A) Wood * T (B) CNG

() LRGL \Dyind Mill '

Prer § @ @ W gEAEe & faar & AW @ 9 o ¥ 7

(A) drEw qret (B) ud. %. 9

(C) TH. Td. @I (D) e e

Who among the following is known as the father of Indian E?gnbmgny ?
(A) Birbal Sahni ( . K. Jain :
(C) M. S. Swaminathan (D) Tali Singh

71-11_B ] 18 [ PT.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

51 %iﬁaaiﬁsmqmrwmmm%mfszﬂwﬁmt | afz #far

ﬂmmx%mwwmmqgnzhmgtmmmmm

(A) =€ wara Zay =& smom

(B) mwmsmmﬁma?ﬁwtmmaﬁqééﬂlimﬁiﬁﬂﬁﬁamm
afzarg Zrm |

(C) 7 7% iz a7 541 71 79 7% Aa z=0 @1 afeena &m0 @ |

(D) 7mT 2m #fsm w20

A living cell has a protoplasm which is water based and demarcated by a lipid layer

membrane. If a cell is pierced up to %’h of its diameter with a very sharp needle,
after taking the needle out :
M;Lﬂt:ct will be obseryed,
(B) protoplasm will leak out from the hole made by the needle for a few minutes
until the cell heals the wound.
(C) protoplasm will keep on leaking out till the cell is dead.
(D) the cell will burst like a balloon.

B2 v (%79 yraAazT a41 U% geEell 99F dadE 23 ¥ | aig Afaa sfveei a5 @ % f
wrAFZT &Y H zEfag 5 faar s a9ie -
(A) v Afga iasr 1 % WAF27 97 T@r T8 a1 GFar |
(B) =4t %1 o1d gamdt % um et ¥, uig 9ot § B g s ¥
(C) Hrzst vs wfega fom a9ar 3, 74 % dee2t us anafas foa a9ar & |
(D) wragz7 %1 7@ qezEd B 6 afus e gt &
A film projector and microscope give equal magnification. But a film projector is
not used to see living cells because :
(A) A living cell cannot be placed in a film projector.
(B) The viewer's eye is close to a microscope, whereas it is far away from the
projector’s screen.
(C) A microscope produces a virtual image, whereas a projector produces a real

imagg.
(D) micrﬁoe has w m‘gigg power than a Broiector. »\/

83  fr Shramy @1 @ wmars DNA &) & & ¥, fraay warf 10%p & 1 deflt DNA %
fer drer vy & guftaa ¥ 7

arg demn ¥ = 6 « 102) el
'(l::z gnome of a bacterium is composed of a single DNA molecule which is 10%p

long. How,_ many moles of genomic DNA is present in the bacterium ? (Consider
Avogadro No = 6 » 102°) | =

A b a-14
y.’:xw‘” 4 K1Y (B) Zx10
(€) T6%10 , - D) 6x10%

.
v i
x"&‘&"“
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84 3z o1 w1 gefrad e gt o A P e b 7
(A) w&™ A9 Feqfrads (B) wrare wgrtertor gafrads
(C) umrd @ safrads (D) waa %v Jafrada
The mutation in an oncogene falls under which of the following classes 7
(A) Loss of function mutation (B) Frame shift mutation
\ymm of function mutation (D) Dominant negative mutation

_—

x

85 Hﬂfﬂal’ﬁmmﬂmwmmstmmﬁmﬁfwm- (GA) frdfaa wmoa ¥
ﬂm%hmmqafmﬂ(muﬁﬁmd o - Ot o afre gy ¥ 7
(A) g (B) wigT
(C) urpEm o (D) Y
Gibberellic acid (GA) controls seed germination by directing breakdown of the
stored starch. In which one of the following tissues of the barley seed, o - amylase
gene is induced in response to GA ? |
(A) Endosperm (B) Coleoptile

(C u Laye g :
\y rone Layer e (D) Embryo

86 fdl fawgedt aafa o, fag o ofm & ford, i faege oo gy & gk’ & 4 of
fafrag afea gan %, mmmmwmtﬁmmmmmmz
(A) =1 & qyaraen | ar qyeraen 11 o
(B) =& qgaraer | o
(C) wrx ugaraen 11 4

(D) ygaregwr | a4 11 =4 o
In a heterozygous individual for a given gene, if a crossing over ha.s occurred

between the gene lo¢us and the 'centromere’ of t chromosomc, thc rcgumuon of
the two alleles of the given gene will occur dunng meiosis at :

(A) Either anaphase | or anaphase I
(B) Anaphase | only

Mna hase [ only w"

(D) Eotﬁ anapﬂase [ and II

87 fr= arrga &t @l F @ @ A s @, s ardt g demd qar et
oi tar @ ¥ e forge e @ d@fva A e ¥ 7

(A) #wfreafaz (B) ar¥emEe
(C) firifaa (D) Hremifaz
Which one of the following gymnosperm phyla produces motile sperms, bears ovulate

and microsporangiate cones on separate plants and has fleshy, coated sceds ?

o 2T (Bt Bdd
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88 ‘ ‘ ¥

fﬁmﬁw’{m@wmﬁ 1000 & arftrs feriifya « aiftreraa Al &1 aear

v P asiiat § A oy Reger sydnr sy 7

(A) RAPD :
; (B) form s

(C) CHIP (D) ziferem fageraor

:-/g-lCh one of the following techniques will you use to identify more than 1000
ifferentially expressed genes in normal and tumor tissues i ' g ' ?

X ] SS n one single experiment?
(A) RAPD (B) Genome sequencing

(C) CHIP assey y ranscriptome analysis £~ V[;CJCM/»#/J
)

89 SDS-l’/\(iliﬁﬁﬁwﬁtxuwmwwaﬂ;ﬁaﬁ.vﬁmu—wanﬁ{sﬁa%{(q%
B AUz F B9 H) B YBAHE b 7 ISdH I &
(A) U& T JRA 99T
(B) NMR ®azresdy
(C) e+ 9NNU qEUYEd THIBLOT U g: TEEor

(D) ESR @Wazrendt

For identification of threoving together (as a single band) upon loading
iq a single lane of a SDS - PAGE gel, the best method is :

(A) One step western blot

(B) NMR spectroscopy -)4/
estern blot followed by stripping ag ﬂEREObinﬁ . — 3
(D) ESR spectroscopy o
e

90 Wmmm,ﬁmmﬁmzmmﬁm [ I STl
2, Py iy ARt ¥ & Rewmr Pifaw Bt & 7
(A) eI (B) uftafyfe
(C). BmEE B .
a7 'ﬁfé‘bmycin hosphor transferase genc, fl’gguent Yayusecias & ot qct{op rflar'ker Qunig
mrrdation, inactivates which one of the following antibiotics ?

i Ampicillin
(A) Hygromycin - (B) !
(C) Streptomycin

(A) RAPD
(C) gt FISH e oo
following techniques would be most suitable for the identification of

W deletion, duplications etc ?
(A) R.:PD (B) Microarray S
(€ ulti-colour FISHD ~ (D) Flow cytometry
bl Q’\’/
[ PT.O.
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92 LEAFY (LFY), us frdsm o1 it Arabidopsis Thaliana, ® arar sian &, % @t # feody

T P wmaay F A @ oar wh ¥ 7
(A) LEAFY (LFY) guit fvrodiaas @t wear & afnfea &
(B) LEAFY (LFY) gvf fraroor & wfinfaa &
(C) LEAFY (LFY) & favwatas @ ggam o afnfoa & |
(D) LEAFY (LFY) g52 @t Wit & wiftad wafas ad & fod frdart & |
Which one of the following statements about LEAFY (LFY),

wauon gene in Arabidopsig Thaliana, is correct ?

' LEAFY (LFY) is involved in floral meristem identit o2
(B) LEAFY (LFY) is involved in leal expansion
(C) LEAFY (LFY) is involved in root meristem identity
(D) LEAFY (LFY) is responsible for far-red light mediated seedling growth.

93 wayr WAy & A SNfRES It @1 aaren Wit gaT @e water ® ol @ ufer €
b e wwig g9 oA @ o Sran ¥

(A) ggt @@ Ui (B) @& 9ra

(C) e ura (D) ZyawE WagH 9Id

The quantum yield of oxygen evolution during photosynthesis drastic jﬂy drops in
far-red Ilghl This effect in known as : ¢

(A) A) Far red drop ed drop
(C) Blue drop ‘J(g’)ﬂémsle spectrum drop

94 oY ¥ gftfa waifag ofrdm & wwa & “gfaframg” aata & ) P & @ @ @
wffsarsa’ @ o TE ¥ 7
(A) drorgs Ao § wH (B) vt &1 a faern qur R
(C) wE & AT (D) #w % A I
Dark-grown seedlings dlsplay "Triple response’; when exposed to ethylene. Which
one of the following is NOT a part of "triple response" ?

(A) Decrease in epicotyl elongation

\ B Rapid unfolding and expansion of leaves
(C) 'l‘hicﬁqmng of shooty~" :

(D) Horizontal growth of epicotyl -

95 ghwary kiR A, wit fepfematel § ¥k W fow A g ¥ 7

(A) G, wraer (B) G wraern

(C) S wrEern (D) G2 graen

In cukaryouc replication, hehca‘se”lo?_fzdmioccurs at all _replicators during.
G

] phase +»—
(C) S phase (D) G2 phase
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96  wav qitw] yral &, sifefiaa aaw v o gfara man ¥

(A) Na H' 49 g@ru (B) Na'" K' uy zra

(C) Na  H' uwdmréy ara (D) Na C| famréz zra

In salt_tolevant plants, the excess salt is transported to vacuoles by :
(A) Na H' pump (B) Na" K" pump o5

\Vn H' antiporter |~ (D) Na Cl symporter
\/\/0_“ 7/1 4 c‘d}%uﬁ

97  wifdre favrr @ fear aga ded B # o

(A) T @™ o (B) 1% & #hdz &= o

(C) %el &I el (D) dfaaf &

Cell division process is very slow.in :

(A) Stem apex .,ﬂﬂ Quiescent centre of root [ —

: R ———
(C) Flower bud (D) Leaves

98 hamsit ¥ fruA.u. uRigpla @1 wiwar s fad g7 faediar @ramet # g &, s

Hed & ¢
(A) “gforaram (B) watadams
(C) Hrdram (D) TEEE™

DNA replication initiated in bacteria in membranous structures having infoldings,

are called as :
(A) Nucleosome (B) Carboxysome

(C) Mesosome 2~} (D) Ribosome

99 myc T ¥ UH :
(A) ST=BIai (B) @m@sas e
(C) &g S (D) fre o=

myc gene is a : %7{/ Qe A 22 Y2
Mnco ene (B) Essential gene
(C) drpEan gene (D) Nif gene

100 fr& ziaaee fear wimar & :
(A) BEAA & & (B) DNA w599 % Z10

_@_)WI%W (D) DNA vuieiifirts 11 & zra
 Nick translation is done by 7
(A) Kinase (B) DNA ligase
(Clw»DNA polymerase I (D) DNA polymerase II
!UA;JL
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S-S G vl YA SHHIS, frwa, wgeruw w1 G Hie vd @i wevanyds frd
ST IAT- 4B H e A8 by s ahr sga el e anadt e
'I"hc. candidates must write neatly the correct Roll Number, Subject, Paper Code and its
Sgncs on the OMR sheet otherwise the OMR sheet will not be evaluated and the candidate
will be solely responsible for it.

38 ue-Yftad ¥ 100 wea ¥ | w@dd wew ¥ g dwfegw sar A @ ¥ 1 st wé
Tt Hide w1d gu o & Faw us MW atgar qa9 B IACTHD I HA AH AR W
QU MU BT ¥ | Us N i IEC AX & 29m ¥ 4eA % IOC @B TEd qA AW v
3G wrar 78 W@

This question booklet contains 100 questions. Each question has four alternative answers.

The candidate has to darken only one circle or bubble indicating the correct answer on the

OMR sheet using black ball point pen only. If more than one answers are marked, it
would be treated as wrong answer and it will not be evaluated.

i, uH. . e ¥ U W en WU W % 4 oad fedr W ware @ afteds it e
AT |

Once answer is marked in the OMR sheet, no change is permitted.

10.  anadl ug-gftast @ie % qra a1 e % 2@ o 5 3% wed e -gies & o o
vy Y gu ¥ | aft wer-gftaa ¥ & w60 B @ sa frhes B et s@ @i
g B B gudl us-gitas wra HT |

Candidate must ensure that the booklet issued to him have all the pages properly printed.

If it has any other deficiency, then your need to approach the invigilator to get another
booklet of same series and code.

arvefl wercalt (atuw. o) @ fedlt were | W
Do not fold the OMR sheet.

12. U@ 9 B IO Haw Fal-uas 9t 6 A ¥ | e % gt see-uas 6 Fries
& @her & |

You are to mark your answer on OMR Sheet only. When the examination is over, handover
the OMR Sheet to the Invigilator.

13, aft e ar st Rrawor ¥ wé Premfy 6, @ sfrol frer sifem srn smom

In case of any discrepancy in the English and Hindi version, English version will be taken
as final.

SPACE FOR ROUGH WORK /T% #d & fau wme
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